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Tick the box which correctly completes the sentence.

Candidate No: 1234656 © Question: 12
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Employing your own staffindicates a
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‘Show whether each of the following is true of faise.

Candidate No: 1234656 © Question: 12

Ataxpayer needs to keep the documentation relating to his business for the tax year 2010/11 unil

31January 2017.

Tue

False

“The maximum penalty for the failure to keep adequate records is £2,000.

Tue

False
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Task 1.3
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Section 2 - Tasks and Questions.

Candidate No: 1234656 © Question: 12

Ataxpayer sold an assetfor £75,000in December 2010. He paid 3% commission to an auctioneer for the.
‘sale. He had bougnt the asset in hay 2003 for £27,000, and he paid 3% commission on the purchase price.

In October 2005 he spent£6,000 on improving the asset

Calculate the taxpayer's gain on disposal. f your answer is zero, please enter ‘0",

Nt isposal proceeds 72150
[cost 27810
[Ennancement expendture 5000
cain 35940]
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‘Show whether each of the following is true of faise.

Ifan AAT member suspects a client of money laundering, they should reporthis to the money laundering authoriies.

Tue

False

Candidate No: 1234656 © Question: 12

Ifa clientis taken i, a tax pracioner can discuss the client's affairs with the next of kin, even f there is not a

Ietter of authorisation from the client.

Tue

False
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Task 1.6
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& Candidate No: 1234656

(a) Tick all of the criteria which must apply for a car to be treated as a pool car.

Itis available to, and actually used by, more than
one employee.

Itis normally kept atthe place of work

Itis normally kept atthe employee's home.

Private usage is never allowed

Any private usage is incidental o business use.

Any private usage is ignored.

(b) Complete the following sentences, using whole numbers only.

© Question: 12

Aloan of £10,000 is given to an employee on 1 May 2009. On 1 October 2010, the employee repays £6,000.

‘The employee pays 1.5% interest on this loan. The assessable benefitin kind in 2010111 is: £

175

An employee has a salary of £28,500. He was given the s of a house in December 2009, that cost the employer
£198,000. The annual value of the house is £5,700. The house contained fumiture that cost the employer £3,000.
‘The employer also paidfor all ancillary services, which cost £3,200 for 201011

(c) Using this information, complete the following sentences, using whole numbers only.

Ifyour answer is zero, please enter 0.
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The assessable bensftin i orthe use of he house for 2010711 is: £
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Candidate No: 1234656 © Question: 12

-
Section 1. Tasks and Questions.

Tick each ofthe following to show whether or ot they are an assessable benefitin kind. Assume that the. e
‘employee is eaning over £8,500 per annum. taxation data
[Clck here for
Assessableasa  Notassessable asa {axation data 2
benefiin kind benefiin kind

Employer paying £50 per week in childcare vouchers to an

Provision of a mobile phone to a director's wife, who does not
‘work for the employer.

Funding of a work-related degree programme, costing
£12,000 per year.
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Task 1.8 Continued
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‘Only the safety equipment s allowable as a taxable deduction
from his salary.

© Time Remaining: 180 min Candidate No: 1234656
-

© Question: 12

Bot are allowable as a taxable deduction from his salary.

He will have ataxable amount of £125.

During 2010/11, Martin used his own car for business travel. He completed 12,500 business miles and
his employer reimbursed him at a rate of 39 pence per mile. The effect o his is:

He will have ataxable amount of £250.

He will claim an allowable expense of £125.

He will claim an allowable expense of £250.

Hertaxable salary wil be reduced by £1,200.

During 2010/11, Chi paid 3% into an occupational pension scheme and her employer also paid 5% into
the occupational pension scheme. For 2010/11, her salary was £24,000. The impact of this is

Hertaxable salary wil be reduced by £720.

Her basic rate band will be extended by £1,200.

Her basic rate band will be extended by £720.
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Task 1.9
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Candidate No: 1234656

© Question: 12

Section 1. Tasks and Questions.

Select the correct option in response to each of the following statements.

James, a higher rate taxpayer, has decided to make a £100 paymentto a charity using his employer's

Payroll Giving Scheme. The effect of this is:

James will save tax atthe higher rate of tax

James will save tax atthe basic rate oftax.

James will pay the same amount of tax that he would have paid
had he not made the payment to charity

‘The charity will be able to reclaim 40% tax on the £100.

During 2010/11 Jayesh incurred travel expenses of £80 and paid £200 for essential safety equipment

Neither of the expenses were reimbursed by his employer, and th
he was required to work at a different building site. The effect of i

e travel expenses were incurred when
is i

Neither is allowable as a taxable deduction from his salary.

Only the travel expenses are allowable as a taxable deduction

from his salary.

Only the safety equipment s allowable as a taxable deduction

from his salary.

Bot are allowable as a taxable deduction from his salary.

During 2010/11, Martin used his own car for business travel. He c

ompleted 12500 business miles and

his employer reimbursed him at a rate of 39 pence per mile. The effect ofthis is:
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Candidate No: 1234656 © Question: 12

Daniel received gross dividends from James Ltd

Calculate the amount Daniel received and the tax amount of the dividends and input the answers in the
boxes provided.

Amount received  Taxcredit  Grossamount

£

684 7% 760.00

Section 1. Tasks and Questions.
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Candidate No: 1234656 © Question: 12

‘Ted received £3,000 gross from his building Society in interest for 2010/11

Calculate the income tax payable on this interest for 201011, assuming that Ted’s
‘employment income, net of personal allowances, is as shown.

Employment income net of Tax payable on

personal allowanc inte
£
INil (assume all his personal
lalowance has been used) 388
11,500 506
110,000 600
[35.000 720
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[Click here for
taxation data 1

[Ciick here for
taxation data 2

ab

Solution Explorer oax

Task29 - |I

BT procicessesment 1 FA2 2010

Introduction

Live tax data

&3 Section1
aem 11 P03
8] 1.2 PTXKBO03
8= 1.3 PTXKBO03
o= 14pT 002
o5 15 P S002
-8=] 1.6 PTXKBO03
8= 1.7 PTXKB003
o6 18P S0z
-8=] 1.9 PTX KBOOS
-8=] 1.10 PTX KBOO3
48=] 1.1 PTX SY001
-8=] 1.12 PTX KBO03
-8S] 1.13 PTX KBO03
-8S] 1.14 PTX KBOO3

&5 Section 2. =

DR ——

58 Solution Ex.

[Propeties  owx|
=]

Bl Page.

LsPageAttemp| True

BageNiall | 100%

B Scene

CurrentScene | Main Scene
IsScencAttem False

SceneMark |100%

PageMark
Returns the current mark the user
has achieved for the page

Properties

Usemame: gemmamuireany (Standard User)

[Serveritps/at blisapassco i catetp |ONLINE




Task 1.11











Task 1.12
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Section 1. Tasks and Questions.

() Answer the following question by inputting the correct answer (in whole pounds)

Candidate No: 1234656 © Question: 12

the box provided.

Whatis the maximum amount an individual aged 40 can investn a cash ISA for the taxyear 20101112

£ [5100

(b) Identify whether the following statement s true or false by selecting the correct option.

Educational grants are taxable on the recipient ifthey are over £5,000.

Fase Al
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& Candidate No: 1234656 © Question: 12

(b) Assuming Janine has property income of £35,000, recalculate her tax payable for 2010/11.

[Property income.

[PA (minimum)
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Task 1.13
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Candidate No: 1234656 © Question: 12

Janine is 73 years old and has property income of £25,000. She has no other income.

(a) Calculate her total income tax liabilty for 201011, entering your answer and workings into the blank
table below. You have been given more space than you will need.

[Property income. 25000

PA

9,490 — (112 (25,000 - 22.900]) 8440

(b) Assuming Janine has property income of £35,000, recalculate her tax payable for 2010/11.

ab

[Click here for
taxation data 1

[Ciick here for

Solution Explorer 0 % x.

aES] 14 PTX SY002
6E] 1.5 PTX SY002
GEE] 16 PTXKBOO3
6] 17 PTXKBOO3
AE] 18 PTX SY002
GEE] 1.9 PTXKBOOS
6] 110 PTX KBO03.
6] 111 PTX SV00L
6] 112 PTX KBO03.
6] 113 PTX KBO03.
6] 114 PTX KBOO3.

&9 Section2
6] 2.1 PTXKBOO3
AE 2.2 PTX SV003
G 2.3 PTXKBOO3
6] 2.4 PTXKBOO3
&5 2.5 PTXKBOO3
GEE] 26 PTXKBOO
&5 2.7 PTXKBOO3

28PTX KR T
I T S

52 solutio.

Properties

ER=]

Bl Page.

agehtt| True
BageNiark 100%

B Scene

CurrentSc| Main Scene
LsSceneAt False
SceneMar|100%

PageMark
Returns the current mark the
user has achieved for the p.

Properties [ &

srpien

Usemame: gemmamuireany (Standard User)

[Serveritps/at blsapassco i catetp [ONLINE





[image: image17.png][egio0L )

ab

Candidate No: 1234656 (@) Question: 12

Section 1. Tasks and Questions.

2 [Click here for
Today's date is 16 January 2012. B
Margaretfiled her 2009/10 tax return online on 25 November 2011

[Ciick here for
‘The assessment for 2009/10 showed a taxIiabilty of £800, which has ot yet been paid. taxation data 2

Discuss the penalties, interest or surcharges that may be applied by HMRC on Margaret for both the late
filing of the tax return and the late payment of tax. Explain how any outstanding tax for 2010/11 may be
collected by HIMRC, based on the information given above.

Late retum

Firstly, the retum should have been filed by 31 January 2011. As Margaretfiled it more than & months late,
[she will get a penalty of £200.

Late payment
The £800 should have been paid by 31 January 2011. Interestwould be incurred from the due date of
payment to the actual date of payment A surcharge will also be imposed, being 10% of the tax outstanding.

2010111

For 2010111, as the payment s less than £1,000, payments on account will not be required. Instead, the tax
for 201011 will be due on 31 January 2012
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‘Show whether the following statement s true o false.
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‘Show whether the following statements are true o false.

Al privately owned cars are exempt from capital gains tax.
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